MATHISES-05708 OF S TET2 Answers

00 §K=e §(01=1
fin=-e  §f)=-1
»g‘%x}: e"‘%

0 ZQ-D.A_ Q, 5 B

=0

50 ongmal ccnvcvges ( umr} com?ansm!txem s

mEgra\ con\lﬂgcs SDGM-r,stAmﬂ Sedes onges

o («u‘gcn LS >{
2 n4+h7_, ' § he p-senes SD

n

- -
2

b) E d\uerg_- ;

_n t+2nz ~ Since” An7P0

[. 0000 €O )
— 100000 —f—-
+ 0050 00

~ 00467,

i

4 oeeoo‘% - Sx\e S -

Fems ghould | be e 1\
( ne)c(' tem in alkm«-hv\ stnes of dec*’e:‘:%
_posthue femns thq\cs mMaximum error iny
absdule Va\vcy

SN .1 .

D-H \x 3\ N3y r——}

Sbﬁ?
P \Ma

~

H' 4/n

. e Y ]
B e Z1%-3l < 1 forcemveqence |\ m*“’*‘-‘*)*
&x-al < m

;x\- ev\d?omfs

X-2=4:

pP=t<l d\vevgml- p-senes sp ong\m) senes |

dl\revges (limd comymsm-\-es*‘)
(-3 o é C gavenes by
3 ot olt smesl-e;\—
i qbsvdve kms g zer
e -‘lﬂi’ 2 ﬁ;_r

N Sevies
ﬁu‘ Sme reasin,

25‘(3( 35‘7\

oo Agatny-(oRveges
- s® ,"ﬁ"«“’?‘@( (onvevgence !

o seel s

_4=0

Z\X A TTE

——
2 ..

1. The
dlemehng p= [

so ong(na\ d\%e{ (hmrl- Cakéanjm §€.S‘\")

9 2@3" IS ageomelnc Sefres “wills veo -7
s d\\rcvr;cs

b A1

26 .S 15 =X
X X ¥

3 ]
L |
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